
VINTERA 60’S JAZZMASTER® MOD
(014-9763-XXX)
PARTS LAYOUT

COPYRIGHT - 2019 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 1 of 6 
FEB 01, 2019 - Rev. A

  37

7

4 5

 8

2

  13

1         

20

 17

 3

 6

  36

16

 11 12

1415

  910

303335
19

19

  18

27
28 25

  26

22 24 25  21

23 24 25  21

303435

3132

2932



PARTS LIST

COPYRIGHT - 2019 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 2 of 6 
FEB 01, 2019 - Rev. A

VINTERA 60’S JAZZMASTER® MOD
(014-9763-XXX)

REF # DESCRIPTION PART NUMBER

1

2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31

BODY 60S JAZMASTER MOD 3TSB 0076587500
BODY 60S JAZMASTER MOD SFG 0076587557
NECK 60S JAZZMASTER MOD PF 7716061000
KEYS, VINT SET PING NKL W/BUSHINGS 0047912049
BUSHING KEY VINT PING 0053020000
SCREW # 3 X 3/8 SM RD HD NIC 0011357049
ORIGINAL STRAT STRING GUIDES 0994910000
SCREW # 3 X 5/8 SM RD HD NIC 0011358049
SPACER STR TREE 62 STRAT 0020423000
PICKGUARD 60s JAZZMASTER SS TORTOISE 7710596000
SCRW SMAB 4x1/2 OHP NI 0015578049
PLATE NECK,PLAIN,CHROME 0991447100
SCRW SMA 8x1-3/4 OHP NI 0015636049
TREM ASSY, JG/JAZ CHR  W/O ARM 0076232049
ARM, VIB JAG/JAZZMASTER 0077422049
SCRW SMAB 5x1 OHP NI 0015610049
BRIDGE ASSY T-O-M w/POSTS, INSERTS CHROM 0076230049
PU ASSY HOT JAZZMASTER NK MEX AGD WHT 7716050000
PU ASSY HOT JAZZMASTER BRG MEX AGD WHT 7716049000
SCRW WD RND HD 3 X 1 NI 0016295049
SWITCH 3 POS TOGGLE AGED KNOB 0053694049
AGED STRAT KNOBS 0991369000
CONTROL 1 MG LINEAR SPLT SHAFT 0054453049
CONTROL 1 MG A TAPER SPLT SHFT 0054032049
WASHER INT LOCK .035"x3/8" NI 0056790000
NUT HEX 3/8-32 X 3/32 NICKEL 0016352049
JACK, PHONE OPEN W/HDWR 0021956049
WSHR FLAT 3/8x.614 NI 0031153049
WASHER LOCK INTL 3/8 X .687 0016436049
BRACKET CONTROL MTG JAZZMASTER 0054454049
KNOB DISC PRESET CNTRL 1"x.25 0054455049
SWITCH SLIDE SS 50 DP DT 0017079049



COPYRIGHT - 2019 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 3 of 6 
FEB 01, 2019 - Rev. A

PARTS LIST

VINTERA 60’S JAZZMASTER® MOD
(014-9763-XXX)

REF # DESCRIPTION PART NUMBER

32
33
34
35
36
37

SCRW M 4-40x1/4 OHP NI 0015719049
CONTROL MINIPOT 50K LIN. W/NUT 0054458049
CTRL MINIPOT 1MEG LIN W/NUT 0054457049
WASHER LOCK INTERNAL TOOTH 1/4 0016451000
ORIGINAL STRAP BUTTONS 0994915000
SCREW WOOD OV HD 6 X 1 0016188049



COPYRIGHT - 2019 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 4 of 6 
FEB 01, 2019 - Rev. A

VINTERA 60’S JAZZMASTER® MOD
(014-9763-XXX)
WIRING DIAGRAM

3 WAY 
SWITCH

OUPUT JACK

RHYTHM
PICKUP

RHYTHM / LEAD
SWITCH

LEAD
PICKUP

RHYTHM
VOLUME

RHYTHM
TONE

MASTER
TONE

CAPACITOR .03µF 

MASTER
VOLUME

CAPACITOR
.02µF 



COPYRIGHT - 2019 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 5 of 6 
FEB 01, 2019 - Rev. A

VINTERA 60’S JAZZMASTER® MOD
(014-9763-XXX)

SWITCH AND CONTROL FUNCTION

1

RHYTHM 
PICKUP 

LEAD PICKUP 

PICKUP IS OFF

PICKUP IS ON

3 WAY SWITCH POSITION

2
3

NOTE: OPERATIONAL ONLY WHEN
RHYTHM/LEAD SWITCH IS IN LEAD POSITION

OF 3 WAY SWITCH
INDICATES POSITION

1

3 WAY SWITCH
POSITION 

RHYTHM PICKUP

LEAD PICKUP

2

9 10

1

6

5

TONE7
8

4
3

1

8

9 01

5

6
7

3

2

4

ender
PAT. #2,972,923

VOLUME

RHYTHM/LEAD SWITCH

RHYTHM

LEAD

RHYTHM VOLUME

RHYTHM TONE

NOTE: ONLY RHYTHM
PICKUP IS FUNCTIONAL
WHEN RHYTHM/LEAD SWITCH
IS IN RHYTHM POSITION
(LEAD PICKUP IS OFF)

MASTER VOLUME
WHEN RHYTHM/LEAD SWITCH
IS IN LEAD POSITION
(NON-FUNCTIONAL IN RHYTHM POSITION)

IS IN LEAD POSITION
(NON-FUNCTIONAL IN RHYTHM POSITION)

MASTER TONE
WHEN RHYTHM/LEAD SWITCH

THESE FUNCTIONS ARE FOR
RHTHYM PICKUP ONLY,
AND ONLY WHEN SWITCH
IS IN RHYTHM POSITION



COPYRIGHT - 2019 - FENDER MUSICAL INSTRUMENTS CORPORATION Page 6 of 6 
FEB 01, 2019 - Rev. A

VINTERA 60’S JAZZMASTER® MOD
(014-9763-XXX)

ADDITIONAL SPECIFICATION DETAIL

6.2-6.8KΩ

6.5-7.1KΩ

.103’’

2-13/16’’

.046’’

Ø .358”

TUNING MACHINE THRU-HOLE
INNER DIAMETER .358”

ALNICO 5
UNBEVELED

ALNICO 5
UNBEVELED

NECK NORTH

SOUTHBRIDGE

FRET SIZE: MED JUMBO NECK PROFILE: “MODERN C”

LOGO: DECAL FENDER JAZZMASTER
APPLIED UNDER THE FINISH

.820”

.870”

PLEASE NOTE: AS EACH NECK
IS SANDED & FINISHED BY 

HAND, THICKNESS DIMENSIONS
MAY VARY SLIGHTLY FROM

THOSE SHOWN.

10-32 THREAD

Ø.375”

TRUSS ROD NUT P/N 0012252000 

Ø.236” Ø.360 ”

KEY, VINT ST PING. P/N 0047912000
BUSHING KEY VINT PING P/N 0053020000

ADJUST-O-MATIC BRIDGE:


